IB Math HL2: Vectors warm up
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e Three Dimensional Vector (in space)
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2) Example: Givenop=P, or =R, and rg = Q. M is the midpoint of?é\andNis
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e The scalar Product (Dot Product)
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4) Example: Find the angle between the two vectors a =3i— j+4k and b=—-2i+3k.




e The cross Project (Vector Product)
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The properties 'of Cross Product: given vector uand v. . “9
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5) Example) Given a=3i—j+4kand b=3i+j-2k
a) Find axb b) Find bxa ¢) axa
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6) Example: .
a) Find a perpendicular vector to a plane formed by A (1, 2,3), B(0, -3,5), and C(-3,1,-1).
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b) Find the area of the triangle formed by A, B, and C.
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Practice)
1. Find a vector perpendicular to both v = 3i — Jj+k and w=2i+ J +k and a magnitude of 4 units.
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2. Ifavectors ¢ = =34wk, b~=i—3j+4k,and ¢ =3i—2j+ k are coplanar, find the value of the scalar w.
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3. Given vector 7 =+/2i + J —k , find the angles which r makes with each of x, y, and z axes.
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